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E–3725 

B. Sc. (Part II) EXAMINATION, 2021 

(Old Course) 

CHEMISTRY 

Paper Second 

(Organic Chemistry) 

Time : Three Hours ]  [ Maximum Marks : 33 

uksV % lHkh ik¡p iz’uksa ds mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA vius mŸkjksa dks lajpuk@vfHkfØ;k }kjk le>kb;sA 

 Attempt all the five questions. One question from each 

Unit is compulsory. Justify your answers using organic 

reactions/structures. 

bdkbZ&1 

(UNIT—1) 

1- ¼v½ fiusdkWy D;k gS \ fiusdkWy&fiusdksykWu iquO;ZoLFkkiu dks 

le>kb;sA      2 

What is Pinacol ? Explain the Pinacol-Pinacolone 

rearrangement. 
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¼c½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

 

(i)                                     
200 C

(A)   

 

(ii)                       3AlCl
A B   

 

(iii)                2ZnCl
3

300 C
NH A   

 

Complete the following reactions : 

 

(i)                                    
200 C

(A)   

 

(ii)                       3AlCl
A B   

 

(iii)                2ZnCl
3

300 C
NH A  
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¼l½ D;k gksrk gS tc fXyljkWy dh 4HIO  ls fØ;k gksrh gS \ 2 

What happen when glycerol reacts with 4HIO  ? 

vFkok 

(Or) 

¼v½ fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 5 

(i) jhej&Vheku vfHkfØ;k 

(ii) xkVjeSu la’ys”k.k 

(iii) yhcjeku&ukbVªkslks vfHkfØ;k 

Write notes on the following : 

(i) Reimer-Tiemann reaction 

(ii) Gattermann synthesis 

(iii) Lieberman-Nitroso reaction 

¼c½ fuEufyf[kr dks vki dSls izkIr djsaxs \ 2 

(i) QhukWy ls fifØd vEy 

(ii) fXyljkWy ls ,sØksyhu 

How are the following compounds obtained ? 

(i) Picric acid from phenol 

(ii) Acrolein from glycerol 
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bdkbZ&2 

(UNIT—2) 

2- ¼v½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 4 

(i) 
2

3
Ag O

CH CHO ?    

(ii) 6 5 2 3C H CHO Ac O CH COONa ?   

(iii) 
KCN

6 52C H CHO ?   

 

(iv)                   4KMnO

[O]
?   

 

Complete the following reactions : 

(i) 
2

3
Ag O

Tollen's reagent
CH CHO ?    

(ii) 6 5 2 3C H CHO Ac O CH COONa ?   

(iii) 
KCN

6 5
Alc.

2C H CHO ?   

 

 

(iv)                  4Basic KMnO

[O]
?
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¼c½ fuEufyf[kr vfHkfØ;kvksa dh fØ;kfof/k dk mnkgj.k lfgr o.kZu 

dhft, %  3 

(i) cs;j&fofyxj vfHkfØ;k 

(ii) ekbdsy ;ksx la?kuu 

Explain the mechanism of the following reactions with 

examples : 

(i) Baeyer-Villiger reaction 

(ii) Michael addition condensation 

vFkok 

(Or) 

¼v½ D;k gksrk gS tc \ ¼vfHkfØ;k fyf[k,½ 3 

(i) ,slhVSfYMgkbM dh VkWysUl vfHkdeZd ds lkFk fØ;k dh 

tkrh gSA 

(ii) csatSfYMgkbM ,slhfVd ,sugkbMªkbM ,oa lksfM;e ,slhVsV 

ds lkFk fØ;k djrk gSA 

(iii) QhukWy DyksjksQkWeZ rFkk KOH ds lkFk vfHkfØ;k djrk 

gSA 

What happens when ? (Write reaction) 

(i) Acetaldehyde reacts with Tollen’s reagent.  

(ii) Benzaldehyde reacts with acetic anhydride and 

sodium acetate. 

(iii) Phenol reacts with chloroform and KOH. 
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¼c½ fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, % 4 

(i) jkstsueq.M vfHkfØ;k 

(ii) gSyksQkWeZ vfHkfØ;k 

(iii) ,sYMky la?kuu 

Write notes on any two of the following : 

(i) Rosenmund reaction 

(ii) Haloform reaction 

(iii) Aldol condensation 

bdkbZ&3 

(UNIT—3) 

3- ¼v½ D;k gksrk gS tc ,slhfVd ,sugkbMªkbM dks ,fFky ,sYdksgkWy ds 

lkFk vfHkdr̀ fd;k tkrk gS \  2 

What happens when acetic anhydride reacts with ethyl 

alcohol ? 

¼c½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 5 

(i) 2CH CH COOH HI ?   

(ii) 2 2 4H O /FeSO
CHOHCOOH O ?
|

CHOHCOOH
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(iii) 3 2 5CH COOH + HOC H ?   

(iv) 3 3CH COONa ClCOCH ?   

(v) 2 5P O
2 2CH (COOH) ?   

Complete the following reactions : 

(i) 2CH CH COOH HI ?   

(ii) 2 2 4H O /FeSO
CHOHCOOH O ?
|

CHOHCOOH

  

(iii) 3 2 5CH COOH + HOC H ?   

(iv) 3 3CH COONa ClCOCH ?   

(v) 2 5P O
2 2CH (COOH) ?  

vFkok 

(Or) 

¼v½ fuEufyf[kr vfHkfØ;kvksa dks le>kb;s % 4 

(i) gqalMhdj vfHkfØ;k 

(ii) gkWQeSu czksekekbM vfHkfØ;k 

Explain the following reactions : 

(i) Hunsdiecker reaction 

(ii) Hofmann bromamide reaction 
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¼c½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 3 

(i) 3 5CH CHOH COOH PCl   

(ii) 2H O
HCHO HCN A B   

(iii) 
3

6 6 3
AlCl

C H CH COCl   

Complete the following reactions : 

(i) 3 5CH CHOH COOH PCl   

(ii) 2H O
HCHO HCN A B   

(iii) 
3

6 6 3
AlCl

dry
C H CH COCl  

bdkbZ&4 

(UNIT—4) 

4- ¼v½ ,sfuyhu ls iSjkukbVªks,sfuyhu vki dSls izkIr djsaxs \ jklk;fud 

lehdj.k nhft,A    2 

How will you obtain paranitroaniline from aniline ? 

Write the chemical reaction of it. 

¼c½ Mkb,tks ;qXeu vfHkfØ;k dh O;k[;k dhft,A 2 

Explain Diazo coupling reaction. 

¼l½ myeku vfHkfØ;k D;k gS \ bldh fØ;kfof/k fyf[k,A 2 

What is Ulman reaction ? Write its mechanism. 
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vFkok 

(Or) 

 fuEufyf[kr ij fVIif.k;k¡ fyf[k, % 6 

(i) xSfcz;y&FkSykekbM vfHkfØ;k 

(ii) eLVMZ vk;y vfHkfØ;k 

(iii) T. N. T. cukus dh fof/k 

Write notes on the following : 

(i) Gabriel-pthalimade reaction 

(ii) Mustured oil reaction 

(iii) Method of preparation of T. N. T. 

bdkbZ&5 

(UNIT—5) 

5- ¼v½ ¶;wjsu dh lajpuk vkSj ,sjkseSfVd izdf̀r dh O;k[;k dhft,A 2 

Explain the structure and aromatic character of Furan. 

¼c½ fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, % 2 

(i) 2 2

2 3

H S HgCl
2 2

Al O CuO
C H A B   

(ii)                       4KMnO
A + B   
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Complete the following reactions : 

(i) 2 2

2 3

H S HgCl
2 2

Al O CuO
C H A B   

(ii)                     4KMnO
A + B  

¼l½ csUtSfYMgkbM ls vkblksfDouksyhu vki dSls izkIr djsaxs \ bldh 

vfHkfØ;k fyf[k,A 2 

How will you obtain isoquinoline from benzaldehyde ? 

Write its reaction. 

vFkok 

(Or) 

¼v½ ,sehuks vEyksa ij Å”ek ds izHkko dks le>kb;sA 3 

Describe the effect of heat on amino acids.  

¼c½ ,sehuks vEyksa dh mHk;/kehZ izd`fr dks Li”V djrs gq, lefoHko 

fcUnq dks le>kb;sA 3 

Explain iso-electric point through the amphoteric 

nature of amino acids. 
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